MA104
Review Sheet - Block IV

Problem Solving with Partial Derivatives

1. Functions of Several Variables

(a) Domain defines the values = and y can be that allow f(z,y) to be defined.
(b) Range defines the values that f(x,y) can achieve.

(¢) For example find the domain and range of f(z,y) = /9 — 2% — y%:

i. To be defined we cannot take the square root of a negative number so the domain
looks like D = {(x,y)|9 — 2% — y*> > 0} or simplified D = {(z,y)|z* + y* < 9}

ii. Now the range will describe what f(x,%) can be. So the smallest 22 + y? can be is
zero and the greatest would be 9. This means that f(z,y) can range from 0 to 3,
or R={2]0<z<3}or R=10,3]

iii. ( means the range moves up to but not including the number next to it. [ means
the range moves up to and includes the number next to it.

2. Steps to find the Limit of a Function of Two Variables

(a) Test the limit to see if the number is defined. For example ( l)inr%1 ) \/6 — 22 —y2. The
x’y - )
limit would be +/6 —1—-1= 2.

(b) If the limit gives you an undefined function then test the function on a few different
paths - if they are not all equal there is no limit. For example if
. Yy +yz + x2?
lim T
(z,y,2)—(0,0,0) x2 + y2 + 22
f(x,0,0) = I—OQ = 0. Now we try at a 45 degree angle in the x y plane

22

f(z,2,0) = 3 = 3 So we get different limits Therefore no limit exists.

We try the line along the x axis which is

3. Partial Derivatives
(a) Notations For Partial Derivatives. If z = f(z,y) we write:

0 0 0
L )= fo= 90 = ) = 5 = i =Dif =D,
of 9 92

- Ox %‘f
ii. fy(x,y) :fy = ay - @f($ay) = 67:1/ = f2 :DQfZDyf

(b) How to find a partial derivative of a function like f(z,y) = 2? + y* — 4oy + 5

i. To find f,, regard y as a constant and differentiate f(x,y) with respect to z.
So fr(x,y) =2x — 4y

ii. To find f,, regard = as a constant and differentiate f(x,y) with respect to y.
So fy(x,y) =2y — 4z



iii.

4. Gradient

To find the second or higher derivatives keep taking the partial derivative of the
derivative. Or for a mixed partial take the partial of the function with respect to
the inside variable then the outside.

So fxx(xvy) = 27 fyy = 2’ fmy =—4

(a) The gradient V f(z,y, z) is a vector in the direction of the steepest slope. For example
if f(z,y,2) =2 + 2y + 2z then Vf(x,y,2) = (42° +y,2,1)
(b) Rules for Finding the Gradient

i.

Get the gradient by taking the partial derivatives and put them in vector notation!
To get the gradient at a point sub in the values of (x,y,z) into your gradient. For
example if f(x,y,z) = x* +xy+ 2 and you want Vf(2,2,5) = (4(2)% +(2), (2),1) =
(34,2,1).

5. Directional Derivative

(a) The Directional Derivative is a Number/Scaler giving the slope/rate of change in a
specific direction.

(b) Rules for Finding the Directional Derivative

i.
ii.
iii.

iv.

Get the gradient by taking the partial derivatives and put them in vector notation!
Then get the gradient at the point you are at by subbing in the values of (x,y,z)

Get the direction you want into vector notation
Get the vector into a unit vector - by dividing the vector by its magnitude
Take the dot product of the unit vector and the gradient - D, - fo fy = Dy f f

6. Steps to find the Extrema of Functions of Two Variables

(a) Find the critical points. If our function was f(z,y) = 2? + y? + 2%y + 4

i.

ii.

iii.

iv.

find the partial derivatives of f(z,y) f. =2z + 22y, f, =2y+ 2?
Set the partial derivatives equal to zero and solve the system of two equations and
two unknowns.

20422y =0, 2y+22=0
Solve one of the equations for x or y So lets solve the second equation for y where
we get y = 779”2
Sub your x or y into the other equation and solve for the variable. In our case we
put our y into the first equation which gives
2:c+2x(_Tx2) =0 = 22-2°=0 =2r=2a3
Now we need the roots of this equation. The obvious one is when = 0. So we
factor an x out of the equation and are left with 2 = 22 = 2z = +v/2. So our
roots are = —v/2,0, v/2.
Now we want to know what our critical points are so we sub our values of x back into
one of our equations. We get the following critical points (—v/2, —1), (0,0), (v/2, —1).

(b) Classify our critical points using the second derivative test.



i. The discriminant D = fu fyy — (fuy)?

ii. So we find the second partial derivatives and the mixed partial.
for =20 fy=2 fay =22 So Dia,y) = (24)(2) — (20)".

iii. We need to test D(x,y) at each of our critical points.

. If D(z,y) > 0 and fyzz(x,y) > 0 we have a minimum.

B. If D(z,y) > 0 and fyz(z,y) < 0 we have a maximum.
C. If D(z,y) < 0 we have a saddle point.

iv. Testing each critical point we get:
D(—v/2,-1) = 2% (=1)(2) — 2% (=v2)2? = D(—v2,—-1) = —8 Therefore
(—v/2,—1) is a saddle point.
D(0,0) = 2% (0)(2) —2%(0)2 = D(0,0) = 0 Therefore (0,0) is not definable by
the second derivative test.
D(V2,-1) =2x%(—1)(2) — 2% (v/2)2 = D(+/2,—1) = —8 Therefore (v/2,—1) is

a saddle point.

(c) Next we need to test the boundary conditions. If our boundary was
D=A{(z,y)|-1<z<1,-1<y<1}

i. We can make a box with equations of the lines as the four sides of the box. Along
this box we have the bottom line where a point on f(x,y) can be described as
flz,~1) =22+ (=12 + 225 (-1)+4= f(x,~1)=2? -2 +50r f(z,~1)=5
Similarly we get f(z,1) =222 +5, f(-Ly)=y>+y+5 f(LLy)=vy>+y+5

ii. Checking the end points of = and y we get
f,1n) =17 f(-1,-1)=5 f(-1,1)=7 f(1,-1)=5

iii. We should also take the partial derivatives of the boundaries and set them equal to
zero to get the max or min on the boundary, we treat this like max and min in two
dimensions where we already tested the end points above.

A. On the bottom line we get f;(x,—1) = 2z — 2z = 0 = No mater what = is we
get f(z,—1) =5

B. On the right line we get f,(1,y) =2y+1=0=>y=—3 So f(1, —f) = %

C. On the top line we get fy(z,1) =42 =0= 2 =0 So f(O, 1)=5

D. On the left line we get f,(—1,y) =2y+1=0=y = —% So f(-1, —%) = %

(d) We need to check our critical points. We realize the only critical point in our domain is
(0,0) which f(0,0) =4

(e) We compare all of our points and see that our Global Minimum is at f(0,0) = 4 and
our Global Maximum is at f(1,1) =7 and f(—1,1) = 7.

7. Optimization
These steps are similar to many other models we have done. If we want a box without a top
to have the maximum volume while using only 12 inches of cardboard we do the following:

(a) Find the Objective Equation - The equation we want to maximize or minimize. V' = zyz.

(b) Find the Constraint Equation - Our limitations. Our Surface Area has to satisfy 2xz +
29z +xy = 12.



(c)

(d)

()

(f)

Use the Constraint Equation to reduce our Objective Equation to an equation of only

: _ 12—y
two variables. z = STem)

Find the Critical Points of the new Objective Equation by taking the partial derivatives
and setting them equal to zero then solving the system of equations. In this case using
Mathematica can help. Our only positive critical point is (2, 2)

Use the Second Derivative Test to determine the classification of the critical points.
Again Mathematica can make finding the Determinant easier. In our case we get D > 0
and f;, < 0 proving we have a maximum.

Test the Critical Points in the function to determine the Max or Min you are seeking.
In our case we get f(2,2) =4

8. LaGrange Multipliers

(a)
(b)
()

Find the Objective Equation - The equation we want to maximize or minimize.

f(z,y) = 4z + 6y.

Find the Constraint Equation - Our limitations. Our Surface Area has to satisfy

22 4+ 9% =13.

Find the gradient of both the Objective and Constraint Equation VOb, VCo by taking
the partial derivatives and putting them in vector notation.

VOb(z,y) = (4,6),

VCo(z,y) = (2x,2y)

Set VOb(z,y) = A\Co(z,y).

(4,6) = A2z, 2y)

Solve the equations VOb(x,y) = ACo(z,y) and Co(x,y) = k for all values of z,y, A by
solving the system of three equations and three unknowns. In this case I would solve
the first equation for A\ giving A = % I would then sub A into the second equation.
6 = 2y(%) I would solve the second equation for x giving x = %y Finally T would sub
the = into the final equation (%’)2 + y? = 13 This would give % +y?>=13. Soy = +3
then © = £2.

Evaluate Ob at all the points (z,y). The largest of these values is the max; the smallest
is the minimum. In our case Ob(2,3) = 26 and Ob(—2, —3) = —26



